OoOooOooOoOod

gobodobooboo

0010000000000000000
0OoO0ooooooooooeonn
0OoOooooooooooorzodn

ooad
agooad
ooooo
25 4000 000000000000 2004000 0 D50
2004000000 = y 445 ¢
hole ==
0ooo W] . L
2000 4— — oooooooo ,f}z__ A’
= —
0omooog N = 7] g ] |
© ] | —
_| o pol |ft Vg s s A ! i =
— - - I o
0o00ooo Iy Wl I 165 b CS
=B 0ooo =11
= ooog A 3L 4 [l ~L
345 24
4. 000000 <
—70 |25l 25 0oooo 56.5 ~|25
455 % 13 050000 60
84
00 0o1sbO oooooo
ogood
ooo 2004000 0050 .25 A -
P 170 995
e L 36
TTRI - s = i }
BT J === 7
7 o2
| — ! 1 I B
© | — ! I
Rl sq O 1-1h g8 B i
I
BA - \ I g ~— ooooo
— 1 PR ! T
(o) + o) @fcal H—l-m-. — !
L - [ 0ooooooooo
0] | 50

75 66.5 20

8 70 50
00 FPO ooooo
oooo
128
0oo
. oo oedd - 40p50 .
| ‘ ooo o1 %EDDE
reer o A= \ 000000002 Fwed sbdooooo
| ST | | 1 rmon
Jod [T lel e r zEﬂEf
BT ! ! | sthdoonoo
= g ey g 8 i S ooonm 921
- i) « - | B o1 i
408 : L HL I 0oooo !
] —= |ooo | ooooooo
Bie- NG = 02 |
] Dl"él
L Ll ] 0o0000gr ¥y
‘ moooo g2
25025 15 -
0omoo =185 117 055
145 18.5
60 _| 485 |
B-53GA
gooooog ooooog
\ T
O | g -
[ | . 5
! g
| o ooon || |0
)
[m} T
\ p
BT
sond
o
o
o
o
o
0
o i
1]
oo
5 0 s
A TeEr Ao TR S b B T TS

0moooooooooo

95



